CBSE Class 12 Biology Question Paper 2018 (March 27, Set 1 - 57/1)
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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(1) There are a total of 26 questions and five sections in the question paper.
All questions are compulsory.

(11)  Section /A contains questions number 1 to 5, very short-answer type
questions.of'1 mark each.

(111) Section B contains questions number 6 to 10, short-answer type I
questions of 2 marks each.

(iv) Section C contains questions number 11 to 22, short-answer type II
questions of 3 marks each.

(V) Section D contains question number 23, value based question of 4 marks.

(vi) Section E contains questions number 24 to 26, long-answer type questions
of 5 marks each.

(vit) There is no overall choice in the question paper, however, an internal
choice 1s provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks. In these questions, an examinee is to
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Qus A
SECTION A

1. 9% @t I e et sgeehieo # gfd Seieisafrrags
ZTSHITHS Hid & | 1
Write the dual purpose served by Deoxyribonucleoside triphosphates in
polymerisation.

2. < N o AW fIRIu [HehT Y8R 787y H=a o 39aH o gl HAa foham S
HehdT 3 | 1

Name two diseases whose spread can be controlled by the eradication of
Aedes mosquitoes.

3.  HMI H Hgaiehlsd UY UM H hd YR Hasl Ifaierm JaH Hid & ? 1

How do cytokine barriers provide innate immunity in humans ?

4. T=tRga & 9@ e - 1

(a) 15 Mie™T a8 qd IHHY (TVT) o THH JIgHE
(b) 2 Tqciaa 99 qd qai %Ikl o HTE-EIAl H {@H a1l JTsHe

Write the names of the following :
(a) A 15 mya primate that was ape-like

(b) A 2 mya primate that lived in East African grasslands

5. U3l H B 9 38 TEHS Iiadd @1 3g@ shieid orEeh gl a8
uftvere 3o i i & A T 1 &l ATal 2 | 1

Mention the chemical change that proinsulin undergoes, to be able to act

as mature insulin.
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Qus B
SECTION B

6. ToI-BellgR Tl ®HA I ITH & (07T WS T A8 6l A1 § §9R 7q
3MMYeh! TATE [ 78 2 |

(a) B 3 geusial i e HIfre S it § argeier w1 ada o e |
(b) HAICR HEA i THEl o 3 YhR o Hde hl EVAhd] &1 Tal aidt ? 2

Your advice 1s sought to improve the nitrogen content of the soil to be

used for cultivation of a non-leguminous terrestrial crop.

(a) Recommend two microbes that can enrich the soil with nitrogen.

(b)  Why do leguminous crops not require such enrichment of the soil ?

7.  WE 91 San g b foREl @@ # uek Sl Uellal srgi diel gt diel
THETE Edl a8 | STSl-aaam o SSordi THiehior hi Te¥dar o $Hehl SIiedl

The TR <l ? 2
Hra

JNY ST HBrgehl IR H TIT hrgeh ol aidl, fht it E.UA.T. g ifveh |

thell dal ardl | e shilarg, | 2

With the help of an algebraic equation, how did Hardy-Weinberg explain
that 1n a given population the frequency of occurrence of alleles of a gene
1s supposed to remain the same through generations ?

OR

Although a prokaryotic cell has no defined nucleus, yet DNA 1s not
scattered throughout the cell. Explain.

8.  H.U. HH o 3K, hiABIHA, h ‘Rl oS b (WA AHh AN TG
A Tehlshd STURIE S IUAR GRI hesd HH o A <hl Ul GUTH H TohE TR
HERIAT shl ? IR TN H FEeh] TN HIT | 2

How did a citizen group called Friends of Arcata Marsh, Arcata,
California, USA, help to improve water quality of the marshland using
Integrated Waste Water Treatment ? Explain in four steps.
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9.  3TYehl AUk ITS IATcAl THTEL hl Teh -5 fohEH U 85 & | 38 deheileh I A
fafgu f59eh g 2T wEd <kl 9Tl difedl hl o<l TuisAl § d1od &I <hl
LT ST W@ sl GHTTaa 63 S Teh | 39 1oy 6l same |t i | 2

You have obtained a high yielding variety of tomato. Name and explain
the procedure that ensures retention of the desired characteristics
repeatedly in large populations of future generations of the tomato crop.

10. (a) T&0s4 =0 % 9id 49 o1 9m fafige | 78 99 9 fg yer gred K1 S

2 ?
(b) HHa IR W T o g9mEl sl foilgu | 2
(a) Name the source plant of heroin drug. How 1s it obtained from the
plant ?

(b)  Write the effects of heroin on the human body.

@ug C
SECTION C
11.  qUl foehiya (ufiaea) Aa EhIY] &1 3 SFTSE | $9eh oI WTTI ol ATHTIhd oY
3k Y [T | 3

Draw a diagram of a mature human sperm. Label any three parts and
write their functions.

12. (a) @G *1 U 9 TdfEgu qgr Shud.u {BmRiyien (Sl
JABHT) H 3Heh! YfHehT T qUM hifTT |

(b)  SI.UA.U. ST[TSTII dehileh o g al JFTIAN AR | 3

(a) Expand VNTR and describe its role in DNA fingerprinting.

(b)  List any two applications of DNA fingerprinting technique.
13. STNHHAT qAT kol | faHe HISU | IS HT Teh-Ush 38 ot dieiw | 3

Differentiate between Parthenocarpy and Parthenogenesis. Give one
example of each.

14. Tofhcar 1 g8 & @l Ja1 HGIST 6l I8 FAT® & Al g b I o
fSTSIeAl o Tolu T U Ty 8 | o1 3719 S99 989 & ? Rl Higd 314 3t
I qi¥ SHifT | 3

Medically 1t 1s advised to all young mothers that breastfeeding is the best
for their newborn babies. Do you agree ? Give reasons in support of your
answer.
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15.

16.

17.

18.

19.

57/1

gfern | ‘Tem-fagiwer skt framfafyr <6t samean hifge | aeeat 1 fom-faior 9 a8
fre PR T8 B 2 3

Explain the mechanism of ‘sex determination’ in birds. How does it differ
from that of human beings ?

(a)  STATRUFE 1 Taeh® S-SRl § fohel TehR HEMRIh AT ?

(b) Gk IYANT | M ITAd FRNTUFT T A0 foigent Ighl HRIET hl
U hifoTg | 3

(a) How has the development of bioreactor helped in biotechnology ?

(b) Name the most commonly used bioreactor and describe 1its
working.

QIR S1L.UA. T, WEfiehl § f=feiRad shi qiHeht hl samedn Y o Teh-Uh
3T <hl Al | hHiT 9

(a) Uiddgd TIAEH
(b) TASHE

Explain the roles of the following with the help of an example each in
recombinant DNA technology :

(a) © Restriction Enzymes
(b) "Plasmids

YOI § S TS, SEHR 9 YR-ISHA (Fh0T) Ugfaal <hl same
<hITTg | 3

Explain out-breeding, out-crossing and cross-breeding practices 1n animal
husbandry.

(a) SAfder TorE™ WM wa digehl o 0 & U @A 6 31ve 9 e
! ST 2d 3 | 3fifaca fag Fifvu |

(b) Sia Tk o Y H ITANT fhU T 1A S, Shaeh T hI< hl Teh-Uh
3ETETT T | 3

(a)  Organic farmers prefer biological control of diseases and pests to
the use of chemicals for the same purpose. Justity.

(b) Give an example of a bacterium, a fungus and an insect that are

used as biocontrol agents.
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20. (a) GHEY 9T GHSIT =R H fave Hifsu |

(b) TH=liRgd = ° & GHEY TEH13T 1 TIH Hih AT : 3
(1) faaet va gfeRn o 9@
(ii)  hRIeehl BT

(ili) SNHATTIT T Heplierdl & JaH
(iv)  STehichg 3TN 3Tc] o g
(a)  Differentiate between analogous and homologous structures.

(b)  Select and write analogous structures from the list given below :
(1) Wings of butterfly and birds
(11)  Vertebrate hearts
(1m1) Tendrils of bougainvillea and cucurbita
(1v)  Tubers of sweet potato and potato

21. (a) “9id I AUAT YRA H 9TAA fofaegar 1ieeh 8 |7 &1 AW 6 &Id 9
HEAd & ? ShIUT 9dTd §Y 394 3T hl IiY hiivY |
(b)  IAHARM Sa-fafagdr qgn S (Tdisisr) Sa-fafagdr ¥ Jat gy S

Stk Fi1&4 b Bt TaU § qilerd gid 2 | 3
HAAT
St forell 3¢l ¥ 32 aifgd aa &1 s fomam Sran 2, O 96 & a0 W ged
I IHIG T ST ShiTaTT | 3
(a) “India has greater ecosystem diversity than Norway.” Do you

agree with the statement ? Give reasons in support of your answer.

(b)  Write the difference between genetic biodiversity and species
biodiversity that exists at all the levels of biological organisation.

OR

Explain the effect on the characteristics of a river when urban sewage 1is
discharged into 1it.

22. d9Tb o NGl H [Heqrsizd F7HIT-RMT 6 FshHUl o (HIAV U THIG2IRTH 6
HdTgeh o &9 H I9INT Tohd T TEEh (&1 8 ? Fal 3Tshd T AT hifwT | 3
How has the use of Agrobacterium as vectors helped 1n controlling

Meloidegyne incognitia infestation in tobacco plants ? Explain in correct

sequence.
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23.

57/1

Qs D

SECTION D

ITY-ICUT o HRUT ¥ s Ik U H 1Y hl TUEH ok TRA T I AR
ANTReh Sgd 3ieeh ToIfdd & T 319+ TSy sl ool WeE Wi 8 | 59 w8y ¥
1Y <hl TUEHT HcAd @Ak & dh Ugd ol 3, IH Tefchcdehl 4 T
AT =ifYd o fem 8 |

(a)  STI-ISIV & 31 TGE HRHI H1 IFE HIT |

(b)  STY-ICNUl & HRU UGl T HHLl T Y4 A his Gl Bl-heh I9E
foTRaT |

() YA TN o Sehl-FoTe o <hted <hl 2iedd ¥ faere™ T STEIE
&= H Y-Sl Ushd o TIQ Torammioat H SIEehdl A o IS h
fou fohegi a1 SrEisRAl 1 g3 i | 4

Looking at the deteriorating air quality because of air pollution in many
cities of the country, the citizens are very much worried and concerned
about their health. The doctors have declared health emergency in the

cities where the air quality 1s very severely poor.
(a)  Mention any two major causes of air pollution.

(b)  Write any two harmiful effects of air pollution to plants and

humans.

(c) As a captain of your school Eco-club, suggest any two programmes
you would plan to organise in the school so as to bring awareness

among the students on how to check air pollution in and around

the school.
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24.

295.

57/1

(a)

(b)

(a)

(b)

(a)

(b)

(a)
(b)

(a)

(b)

Qus K
SECTION E

gt aredi <ht feregl @1 IRl o1 auia hifST ST TeprEe qen s 6
ST hLdl & |

Tsh ATIdsS & SIS0 hl ThEl Th FE IR H FHHICTh] o T

o I TgHY=A qeh <hl T3t o1 guiF il | 5
GG

UHa =1 | 3Tdd dsh hl SITEAT shifolu |

uHd fER H AT =sh bl diTeh THe TH e 3u™ % &9 Ry

Jeh L T Bl Hehdl @ ? 5

Describe any two devices 1n a flowering plant which prevent both
autogamy and geitonogamy.

Explain the events upto double fertilisation after the pollen tube
enters one of the synergids in an ovule of an angiosperm.

OR

Explain menstrual cycle in human females.

How can the scientific understanding of the menstrual cycle of
human females help as a contraceptive measure ?

39 9 1 9T 9™ fdRgu SEerT 39T 9T 8¢ AU TR 39
IR 9 3194 SIAT | foham o1 | ST o 9eH | dgadl IR THANH
S TggaY H 3k 2 ThU TTU e <hl ST <hifoiu |

U o 19 1 d §C WEfde A S == (S #fuw) i1 samedn fohe
JehTT <hl ? 5

HAAT

2 P.T.O.

)
&collegedunlas
India’s largest Student Review Platform

S—



(a) HiEw T g gfawifed o1 fagra (e ) fafew | <= 3o
$O UG Wl 8 ? U Fd1d §T Teh IS <hl HEFAT H 319 I hl
g I |

(b) ‘EUHE Tag sl JAeE™HS Tehid 1 HURU fohH ThR §3T I
U & ST g T &1 81 9 o1 ? qHERY | 5

(a)  Write the scientific name of the organism Thomas Hunt Morgan
and his colleagues worked with for their experiments. Explain the
correlation between linkage and recombination with respect to
genes as studied by them.

(b) How did Sturtevant explain gene mapping while working with
Morgan ?

OR

(a)  State the ‘Central dogma’ as proposed by Francis Crick. Are there
any exceptions to it ? Support your answer with a reason and an
example.

(b) = Explain how the biochemical characterisation (nature) of
‘Transforming Principle’ was determined, which was not defined
from Griffith’s experiments.

26. (a) faiyrd 3159 wRehi & Ifd fafya Saeti &1 f=fofiga FfshRare afertea
Bl & | Ucdh o Ueh-Ush 3218 <h] TERIAT ¥ S4ehT U <hifNT |

(i)  TEHT T
(ii) &Y T
(ifi)  TETE T
(iv) THleId sl
(b) 80 faaferi bt weh wmie # Afg v wearg # 8 faaferi i gy 71 AT
g, a1 39 Fafy ¥ faafern bt amfy hi g7 gt i TuET il | 5

SHAAT
)
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(a) Toh®l UTRGA H Y991 &R o1 Bl 8 ? 39 deH H T&@ s (@l
HHA ) T T I & 2
(b)  Tordl UGS H ‘YoM qiveh TqU <hl Y{{HeRT shi SATEAT SHIfWT |

(¢)  Weh YTehideh UTRAA H WG W TEAT, IR0 Wi JE@AT 9 Tohd JhR
G 8 ? 5

(a) Following are the responses of different animals to various abiotic
factors. Describe each one with the help of an example.

(1) Regulate
(11)  Conform
(111) Migrate
(1Iv)  Suspend
(b) If 8 individuals 1n a population of 80 butterflies die in a week,

calculate the death rate of population of butterflies during that
period.

OR

(a) - What 1s a trophic level in an ecosystem ? What is ‘standing crop’
with reference to it ?

(b)  Explain the role of the ‘first trophic level’ in an ecosystem.

(c) How i1s the detritus food chain connected with the grazing food
chain in a natural ecosystem ?
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